
































*  Are easily inspected and adjusted for wear.

*  Can be repaired or replaced.

*  Can provide a temporary solution to the repair of a more
   sophisticated production bearing.

The oiliness of the wood is important if the bearing is not
going to be lubricated. Woods having good self-lubricating properties
often are those which:

*  Are easily polished.

*  Do not react with acids (e.g., teak).

*  Are difficult to impregnate with preservatives.

*  Cannot be glued easily.

Usually the hardest wood is found in the main trunk just below
the first branch. Wood freshly cut should be allowed to dry for
two to three months to reduce moisture content. High moisture
content will result in a reduction in hardness and will cause
greater wear.

SIZE OF THE BEARING

The length of the wood bearings should be at least twice the
shaft diameter. For example, for the 5cm dia axle or shaft of
the waterwheel presented here, the bearing should be at least
10cm long. The thickness of the bearing material at any point
should be at least the shaft diameter (i.e., for a 5cm dia
shaft a block of wood 15cm X 15cm X 10cm long should be used).

Split block bearings (see Figure 14) should be used for the
waterwheel because it is a heavy piece of equipment and can
cause a great deal of wear. These bearings are simple to make
and replace.

The following steps outline the construction of a split-block
bearing:

*  Saw timber into an oblong block slightly larger than the
   finished bearing to allow for shrinkage.

*  Bore a hole through the wood block the size of the axle/
   shaft diameter.

*  Cut block in half and clamp firmly together for drilling.

*  Drill four 13mm or larger holes for attaching bearing to
   bearing foundation. After drilling, the two halves should be
   tied together to keep them in pairs.

*  Impregnate the blocks with oil.

*  Use an old 20-liter (5-gal) drum filled two-thirds full with
   used engine oil or vegetable oil.






























